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> XAt A0 H4d
(1) 3.648 X 1=3.648
3.648 X 10=36.48
3.648 X 100=1364.8
3.648 X 1000 =23648
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(2) 279 X1=279
279X0.1=27.9
279x0.01=2.79
279%0.001=0.279
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> AL77|2|e] =4
2xX9=18
0.2X0.9=0.18
0.2x0,09=0.018
0.02x0.09=0.0018
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01 5.36 X10=| 536

5.36 X100=| 536

5.36 X 1000=| 5360

02 152X 0.1=| 152

152X 0.01=| 152

152X 0.001=| o0.152

03 8x4=32

8X04=| 32

8x0.04=| 032

8x0.004=| 0.032

04 6x7=42

0.6X0.7=| 042

0.06X0.7=] 0.042

0.06X0.07=| 0.0042

05 12x34=408
1.2X34=| 408

A 12x0.34=] 0108
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0.12X0.34=| 0.0408
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